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¢’ A particle P, of mass m, is suspended by
two inextensible light strings PA, PB, of
equal length where A and B are fixed at
the same horizontal level and each string
is inclined at an angle B to the horizontal.

(i) Find the tension in string PA.

(ii) If the string PB is cut so that P
starts to move in a circular path,
prove that the tension in the string
PA when it makes an angle ¢ with
the horizontal is

mg(3 sin ¢ — 2 sin B).

(iii) If the tension in PA is suddenly halved when PB is cut, find the angle B.
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